Monday 27t April



Dear Year 6

We hope you and your families are keeping well and have
had a good week.

Here are the suggested activities for this week for you to
follow and complete.

Please also remember to take time to relax, exercise
and be kind to yourselves.

Take care and keep smiling,

Mrs Graham and Mrs North



Reading

As always, you should be aiming to read for at least 20 minutes
everyday. Find some time today to sit quietly and read.

Remember you can now take Accelerated Reader quizzes from home
by using this link Howley Grange Renaissance at home and logging on as

usual using your username and password.

To check that the book you are reading has a quiz, you can check it
using on Accelerated Reader Bookfinder. It's okay to read books which

haven't got a quiz - just keep a record of what you have read.

Keep reading and exploring new worlds and adventures!


https://ukhosted58.renlearn.co.uk/6702136
https://www.arbookfind.co.uk/
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Inkroduction

Have you ever looked at a door and wondered what might be on the other
side? Where may it lead? What may be hiding within? At first glance, a door
is just a piece of wood, glass or metal that is opened and closed so that people
can get in and out of a room, a vehicle or a space. But in the hands of a writer,
a door represents a world of possibility, a world where things are not only
hidden but often closed off and restricted. Together, through poetry, text
games and narrative, we shall explore the potential that a door offers to you,

the writer.
7N
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English Activity 1 - Comprehension

Read this extract from The Snow-Walker's Son by Catherine Fisher. You can
listen to the extract here: https://soundcloud.com/talkforwriting/doors

The door was the last one in the corridor.

As the flames flickered over it, they showed it was barred; a hefty iron
chain hung across it, and the mud floor beneath was red with rust that had
flaked off in the long years of locking and unlocking.

The keeper hung his lantern on a nail, took the key from a dirty string around
his neck, and fitted it into the keyhole. Then he looked behind him.

‘Get on with itl' the big man growled. ‘Let me see what she keeps in there!’

The keeper grinned; he knew fear when he heard it. With both hands he turned
the key, then tugged out the red chain in a shower of rust and pushed the door.
It opened, just a fraction. Darkness and a damp smell oozed through the black
slit.

He stepped well back, handed the stranger the lantern, and jerked his head. He
had no tongue to speak with; she'd made sure he kept her secrets.

The stranger hesitated; a draught moved his hair and he gazed back up the stone
passageway as if he longed suddenly for warmth and light. And from what I've
heard, the keeper thought, you won't be seeing much of those ever again.

Then the man held up the lantern and pushed the door. The keeper watched his
face intently in the red glow, and his great hand, as it clutched a luck-stone that

swung at his neck. The man went in, slowly. The door closed.
© Catherine Fisher 2011 from The Snow Walker's Son, published by Red Fox, by permission of the author.

© Talk for Writing



English Activity 1

Now answer the following questions in as much detail as possible. Remember to use evidence from the
text to support your answers where possible.

1.

The door was the last one in the corridor.
What is the significance of the word last? Can you think of another context
where the word /ast has a significant meaning? e.g. the last chance.

How do the opening lines (highlighted above) set the mood of the story?
What are your immediate impressions?

Having spent a great deal of time reflecting on the significance of doors
and their appearance, what does this description suggest to you?

Why has Fisher described the iron chain as being ‘hefty’? What could the
significance of this word be in the context of the story?

Darkness and a damp smell oozed through the black slit.
How does this make you feel as a reader? What is the relevance of both

? ‘ i - ?
darkness and a damp smell? Do either of these surprise you; if so, why: © Talk fof Writing



Maths Activity la - ten in ten ©

1) 76.05 x 1000 =

g; (%) ;5638;5:30 _ You know the
’ ) |
4)16 - 9.343 = rulel
2; §8X59xx3170:: Ten minutes to
7)2/7 +4/5 = answer ten
8) 58083 - 9976 = questions ©
9) + 864 = 1695

10) 4362 + - 9846



Maths Activity 1b - Multiplying and
Dividing Decimals

We have included Learning Reminders that will help you
with answering today's questions.

Don't forget that you can also use your Maths revision book
to help you.



@Ham

Learning Reminders

Use place value and tables facts to multiply and divide numbers with up to 2

decimal places.

ilton Trus

[ ¢

a What do you notice
about the answers...?

Each answer is 10 times
smaller than the
corresponding tables fact,
e.g.
4x6=24
S0,4x0.6=2.4

Primary National Strategy




Use place value and tables facts to multiply and divide numbers with up to 2
decimal places.

. We know 42 + 6.
4.2+6 The answer to 4.2 + 6 will be 1f,,
— of the answer to 42 + 6.

What about 1.8 + 6... J 18:-6=3
So, 1.8+ 6=0.3

—

V4 Use place value and tables facts to multiply and divide numbers with up to 2
Count on 6 steps of 0.3 to check: J decimal places.

0.3, 0.6, 0.9.... ‘
Mow salve 0.48 + 6.

0.48 + 6 is /., of the ‘ 18-6=8

- answer to 48 = 6. 4.8+6=0.38
R S0, 0.48 - 6=0.08

J What is 0.24 + 67 J What is 0.54 + 67
—— ) T—— y

l wWhatis0.12 = 67 J What is 0.18 + 67
— i — F

_ l What is 0.36 + 67 B I What is 0.42 + &7
— y — y

11

@Hamilton Trust




@Hamilton Tru

Learning Reminders

Use partitioning to mentally multiply numbers with 1 and 2 decimal places,

e.g.4x3.6and 4 x0.36
Using partitioning... J’l |

4x3.6
4 X 36 = (4 X 3) + (4 X 06) We can partition 3.6, and —
— 12 + 2.4 | multiply each part.
= 14.4
‘ And now for 3 x 4.7, recording
the steps as above...
3x0.47 |\
_ The answer is 1f,, of the answer to
3 x0.47 = (3 x 0.4) + (3 x 0.07) ‘ S0
— 1.2 + 0.21 Another way to calculate 3 x 0.47
would be to find 3 x 47 and divide
= 141 by 100... y.

S
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Maths Activity 1b - Multiplying and Dividing Decimals

XX

@Hamilton Trust

5xb

8 x @

15+3

45 = 5

48 - 8

A
A Challenge )

Find the missing numbers:

O x08=556

5x06

15+3

45 =5

48 - 8

3.2 x O =04

Mental decimal multiplication and division

5x0.06
4 x 0.07
8 x 0.09
0.15+3
045 +5

048 - 8

( )+o-007

13



Maths Activity 1b - Multiplying and Dividing Decimals

X 3k

@Hamilton Trust

Mental decimal multiplication

Use partitioning to work out the answers to these multiplications.

1.

& N O U B WN

Ix 24
=3 x 2]+ (3 x 0.4)

= +

6x58 H



Maths Activity 1b - Multiplying and Dividing Decimals

Mental decimal multiplication and division

X %k %k
5x056 5 x 006
4 x 0.7 4 x 0.07
8 x09 8 x 0.09
15+3 0.15+3
45 +5 045 +5
48 - 8 048 - 8

f. Challenge H

Write your own multiplications with an answer of 3.6.
Write your own divisions with an answer of 0.06.

@Hamilton Trust
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Maths Activity 1b - Multiplying and Dividing Decimals

%k %k k Mental decimal multiplication

Use partitioning to work out the answers to these multiplications.
1. 5x43 6. 7x84
2. 5x043 7. 3x026
3. 4x7.2 8 3x072
4. 4x072 Q. 6x064
5. 8x67 10. 4 x0.58

4 Challenge : ~

Write three multiplications of the fr.::rml Ix | l . O with an answer between 35 and 45.

You can only use each digit 1 to ¢ oncel
16
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Check your understanding
Questions

Write the first six facts in the 0.5 times table...
1x0.5=0.5
2x0.5=

What is 4.5 divided by 0.57

A metal tag is 0.7cm long.
How many tags can be cut from a strip of metal 6.3cm long.
How many tags could be cut from a strip of metal 70cm long

Use partitioning to find 28 x 6. Now explain how to multiply
2.8 by 6.

Finally, write the answer to 0.28 x 6 without doing any further multiplication!

17



Science - Light
The following activities are to be done over the week.

We have added a Knowledge Postcard at the beginning which
will help you with everything you need to know for these
activities and explain any key vocabulary.



light A form of energy that travels in a We need light to be able to see things. Light waves travel out from sources of
wave from a source. light in straight lines. These lines are often called rays or beams of light.
Hght source An object that makes its own light. Light from the sun travels in a straight line and hits the chair. The light ray

reflection Reflection is when light bounces off is then reflected off the chair and travels in a straight line to the girl’s eye,

a surface, changing the direction of enabling her to see the chair.
a ray of light.

incident ray A ray of light that hits a surface.

A ray of light that has bounced
back after hitting a surface.

the law of reflection | The law states that the angle of the
incident ray is equal to the angle of
the reflectod

The law of

The angle of

angle of vej lectlon\ Light travels as a wave.

reflection reflection is the

states that angle between the But unlike waves of
the angle normal line and \\ | . 1.4, water or sound waves,
of incidence the reflected ray it does not need a

light. medium to travel

normal line === through. This
A/ means light can

is equal to the
angle of reflection.

Whenever light is The angle of T~
reflected from mc.llélence is the incident ray \ aruve u‘mrou.g
. ang between e - : vacu -
gb;l;j ﬂ’“slt the normal line completely
and the incident airless space.

law. angle of incidence

ray of light.

planit ™

vigt twinklcom



Seeing Reflections

The law of reflection is what allows us to see an object reflected in a mirror.

Look at the way light travels to enable the boy to see his face reflected in
the mirror:

1. Light from the bulb hits the boy's face and
bounces off.

2. The light reflected from the boy's face hits
the mirror

3. The light reflected from the mirror travels
to the boy's eyes, so he can see the image
of his face reflected in the mirror.




Make a Periscope

You are going to use your understanding of reflection
and the angles of incidence and reflection to make a
periscope.

A periscope is a device f-.::r seeing over or around
s-.::methlng.

Feriscopes were first used by sailors in arcund 1860,
who used therm in submarines to see above the surface
of the water. They were also used by soldiers in the First
World War, to see over the top of their trenches. They
are still used today by tanks and some submarines.

A simple periscope is a tube with a mirror at either end.
The mirrors need to be positioned so that the light is
reflected from the mirror at one end, down the tube to
the other mirror, then out of the tube to the observer’s
eyes.

| twinkl i



Science activity 1 - make a periscope

Use a cereal box, scissors, 2 mirrors and sticky tape to make your periscope.
You might use the template or you may try to construct your own!

Use the instructions on the Making a Periscope Activity Sheet to help you.

B Mak] B Malt] ’ MalJ ’ Making a Periscope
S PR RS e e e e |
A —ed A o - v L o .
-~ ‘ :. e g — e agh Y S Sy R e ‘ v &
',‘_- N - —% - — -
oy N - L .
= L b X
e 3 —
- % . -
‘f' e !f
NS T A T A T R
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You will need:

A ceredl box T A pair of 2 safery 3 Sticky tape
S0 “H FAAFGrE [ @
= '/

Cargfully open up your cereal box and bay it out flat,

Step 2 ]

Stick the ‘'mirror” templates in the centre of the wide panels of the cereal box. { \\ /

N Z

I J

Step 3 [
[+]

Stick the ‘window’ templates in the centre of the narrow panels of the cereal bax

Step 4
Carefully cut along the lines for the mirrors, and out out

the windaws,

Step 5

Lise sticky tape to
atick the cereal box
back together.

Step 6

Push the mirrors
thraugh the mirror
lnes you out, and
out the other side

You should now be able to use your
» . Lmhﬂumghmaumm-gwimim

periscope to look around or over things!
to see an image from the other window

23



How Does it Work?

Therrﬁrrnrshﬂmperi_ﬂ: reﬁm httn dl_;aul_'-nseeun an o Ettur-n-m'u:ln:nm.erm'
mwthetnpnjmndiﬁ -Ett_E:-:p'luh'l_hnwd'Leg Hshgcmpleth'l_g sentmmbelnw

Light from a light source

The light travels through the top window and

I can see an image of the object!

24
I twinkl I



Answers - 27/4/20



English Activity 1

1. The door was the last one in the corridor.
What is the significance of the word /ast? Can you think of another context

where the word /ast has a significant meaning? e.g. the last chance.

It was the only one remaining; it was at the very end. That there were other doors in the corridor. Perhaps all of the other doors had been
tried unsuccessfully. It was in this location for a reason. Last words - last breathe

2. How do the opening lines (highlighted above) set the mood of the story?

What are your immediate impressions?

They describe a corridor - with no electricity - possibly not inside a building. Feelings of suspense and wonder at what is behind the door.
Why is the door locked so securely? Questions as o whether the door is guarding something precious or something possessing great
strengt@. Having spent a great deal of time reflecting on the significance of doors

and their appearance, what does this description suggest to you?
A variety of answers depending on interpretation

4. Why has Fisher described the iron chain as being ‘hefty’? What could the

significance of this word be in the context of the story?
Hefty means large and heavy. The chain was large and heavy to either keep people from opening the door easily to protect what it was
guarding or to keep what was behind the door (which must have great strength) from escaping.
5. Darkness and a damp smell oozed through the b?ack slit.

How does this make you feel as a reader? What is the relevance of both

darkness and a damp smell? Do either of these surprise you; if so, why?

Feelings of trepidation and worry - use of the word oozed suggests it moved slowly. Whatever is behind the door is not a good thing.

Darkness can suggest evil/badness. Damp suggests moisture or water. Suggests something is underground without light. T&? 'HI'II%%?W‘EPH\
the senses to describe the scene. E



Maths Activity la - ten in ten ©

1) 76050

2) 315

3) 120

4) 6.657

5) 360

6) 14245
7)38/350r13/35
8) 48107

9) 831

10) 5484



Mental decimal multiplication and division (mild)

HBx=b=730 Sx06=3 S5=006=03
Ad=T=28 A=x07 =28 4 =007 =028
Bx9=72 B=02=72 B=009=072
15+3=5 15=-3=05 0153 =005
AS=5=-9 A5=5=0%9 045 -5 =007
AB =B =56 AB=-8=056 048 - 8 =004

(7)x08=56 32 x(0129=04 (063)+9-007

Manral decimal multiplication [mild)

1. Ix24
(320 +(3 =04]

6 & 12 Mantal decimal multiplication (milld) continusd

"
P

7. x84
2 6 x 24 =9 = 8]+ (9 =04]
(6= 2) + (6 = 0.4] = 72 4+ 54
12 + 24 =774
14.4

; .4 8 H=48
' [5 x 4) + (5 = 03] _ © ;: ! +:ﬁ Hitf?;ﬂ]
20 + 15 }
- =288

4. T=43

[7 = A) +£(7 = 03]
28 + 21

ETIN |

5. 4 =72
=[dxT7l+04 =02
= 28 + 0&
=288

8. 8 =107
[B=10]+(8«07]
80 + 56

856
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Mental decimal multiplication and divizlon (hot)

Dx=06=3 Dx006=03
4x07=28 4%007=-028
Bx09=72 8x009=072
15:3=05 0.15 = 3 =005
45:5-09 0.45 = 5 =009
48:-8=06 0.48 = 8 =006
[ Challenge

Armswers couldinclude: 12 x3=36 18x2=3bor&x06= 36
armd
J&6-b6=06418=-03=0860r12=2=06

Mental decimal multiplication (hot)

1. Axd3
=[5 xd4)+ (5 =03)
= 20 + 15
=215

2 5 =043
=[5 = 0.4] + (5 = 0.03)
= 2 + 015
=215

3 Ad=72
=[d=x7)+(4 =02

= 2B 4+ 0B
@Hamilton Trust

Mantal decimal multipllcation (hot) continued

A, 4 =072
=[d4 »x 0.7) + (4 = 0.02]
= 28 4+ 008
=288

o, 8 =« 4.7
= A8 + 5.5
=534

s T =84

[F >8] +[7 = 0.4]
58 + 28

58.8

7. 3 = 026

[3 = 0.2) + (3 = 0.06]
08 4+ 018

078

8. 3 =072

(3 = 0.7] + (3 = 0.02]
2.1 + 0D

=214

9. & = 0.64

[& = 0.6) + (6 = 0.04]
386 9+ 024

384

10. 4 x 058

(4 = 0.5) + (4 = 0.08]
2 3+ 032

=232

Using digits 1 to ¥ once only to give answers between 356 aond 45 could include:
BxbZ=als6 Fxdal = 369 TxddI =441 or
Bxb3 =424 4x91=3564 Txb2=434

29
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Check your understanding
Answers

Write the first six facts in the 0.5 times table...
1x05=05

2x05=1
3x05=15
dx05=2
5x05=25
Bx05=3

What is 4.5 divided by 057 9 Complete the 0.5 table (above) to find that 9 x 0.5 =4.5. Answers
of 0.45 or 45 show confusion over place value related times table facts.

A metal tag is 0.7cm long.

How many tags can be cut from a strip of metal 6.3cm long? Ssince 0.7 x59=6.3
How many tags could be cut from a strip of metal 70cm long? 100 since 0.7 x 100 =70

Use partitioning to find 28 x 6. Now explain how to multiply 2.8 by b.
28x6=(20x6)+ (8 x6)=120+48 = 168.
2.8 x6is 10 times smaller, i.e. 16.8

Finally, write the answer to 028 x & without doing any further multiplication! 022 x & 15 10 times
smaller than 2.8 x 6, Le. 1.68

30



